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public class ArrayQueue<T> implements Queuelnterface<T> {

private T[] contents;

private int frontIndex;

private int backIndex;

private static final int DEFAULT_CAPACITY = 50;

public ArrayQueue(){
this (DEFAULT_CAPACITY);
}

@SuppressWarnings("unchecked")
public ArrayQueue(int initialCapacity){
// The new array contains null entries
contents = (T[]) new Object[initialCapacity + 1];
frontIndex = 0;
backIndex = contents. length -1;
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@Override

public void enqueue(T newEntry) {
ensureCapacity();
backIndex = (backIndex + 1) % contents.length;
contents[backIndex] = newEntry;
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Wrapping Around

backindex = (backindex + 1) % queue.length
Cases when queue.length is 10:

Initial backindex Incremented backindex

0 1

2
6
9
0
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